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QUESTION 1

A router has learned two routes for the same network with the same prefix. One route has been learned via OSPF with
a metric of 4882, while the other route has been learned via RIPv2 with a metric of 4. Which route (s) will be found in the
routing table? 

A. The RIPv2 route. 

B. The OSPF and RIPv2 routes. 

C. The OSPF route. 

D. Neither of these routes will be found in the routing table. 

Correct Answer: C 

 

QUESTION 2

On the command line interface of the Huawei AR router, the save command saves the current system time. 

A. Correct 

B. Error 

Correct Answer: B 

 

QUESTION 3

Refer to the graphic. Two hosts communicate through a GRE tunnel. When the GRE tunnel is up, the network
administrator configures a static route on RTA to route packets to Host B. Which of the following commands will achieve
this? 

A. ip route-static 10.1.2.0 24 GigabitEthernet0/0/1 

B. ip route-static 10.1.2.0 24 200.2.2.1 

C. ip route-static 10.1.2.0 24 200.1.1.1 

D. ip route-static 10.1.2.0 24 tunnel 0/0/1 

Correct Answer: D 

 

QUESTION 4

A network administrator recently used tracert to trace the path to the destination IP address of an external website,
however the trace path displayed only a timeout result. Which of the following statements correctly explains the reason
for this? (Choose two) 

A. The source router had shutdown the ICMP function. 
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B. This destination IP address does not exist. 

C. The gateway canot find a route to the destination. 

D. This is a normal phenomenon. 

Correct Answer: BC 

 

QUESTION 5

Regarding the RIP routing protocol, the following description is correct (). 

A. The router cannot send a router entry with a hop count of 16 to its directly connected neighbor. 

B. The router may receive a route entry with a hop count of 16 sent by the directly connected neighbor, but will discard it
immediately after receiving it, and will not do any other processing. 

C. The router may receive a route entry with a hop count of 16 sent by the directly connected neighbor. After receiving
it, it will use it to update its own routing table. 

D. The above description is incorrect. 

Correct Answer: C  
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